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M7A Chapter 5 Practice Test

For Excrcises 1 and 2, refer to the table below,
The table shows the heart rates and masses of different animals.
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i Heart Rate &
Animal (beats/min) Mass (g) \
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cat 180 2000 ,}g- 1.}{ )
cow 66 800,000 4}) 0
hamster | 450 60 20%8, ,
horse 44 1,200,000 | LG/\'}};"}%D
1. Express the ratio of a cow’s heart rate to a hamster’s heart rate as a fraction in A
simplest form, éé (0(@ ’r 22 ﬂ _ i
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2. Express the ratio of the mass of a cat to the mass of acow as a fi acnon in surnplcst form. 9‘
4,808 .
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3. A d-gallon jug of milk costs $5.60. At what price should a wgdllonju-= be sold in order for the uml rate for both
containers to be the same? *
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—;—homs he had completed 20— lines of code. What was hi
rate of programuning in lines of code per hour? 24 7

4. Auggie began working an a computer program. After 7
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6. Is the following statement true or false? Explain your reasoning.
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7. Write and soEV(:d_JmpuleulU solve [ur x. o5 ¥ La507) = 206 =/$ gi}‘sﬁﬁ_ o olis &
3 ounces of perfume for $105 o 1 = 235 = 3% R
7 ounces of perfume for x i
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8. Ryan is building a model of the Texas Capitol Building. He is using a scale of x|g
2 inches = 5 meters. What is the height of the model if the Texas Capitol Buildin
is 95 meters high? SO DEL
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For Exercises 9 and 10, determine whether the set of numbers in each table is proportional. If the relationship is
proportional, determine the constant of proportionality.
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o. [Birds 1]2]s 4l| ConsTANT OF 10. ‘NumbelofPizzas ¢ (418 | 8]

Beaks | 1|2 |3 |4 | ﬁﬂn@!ﬂﬁo‘”““r\? | Number of Slices | 16 | 32 | 60 | 64

| I — 45 / Sk
So+HSH+LHT® /8e
For Exercises 11 and 12, AABC ~ AFGH. J{5°
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14. On a set of blueprints for a house, the scale is% inch = 4 feet. beslle 7l ﬁ’{ 8
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a. Find the actual length of a room that muasm;:s 3.2 inches on the blueprint.

b. Suppose an architect is updating the blueprints and decides to usc a different scale. An actual length of 30 feet is

drawn on the new blueprint as 4 inches. Complete the ratio for the new scale, ; i
1= —
5 inch= [] feet = .0
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15. Explain a method for determining if the relationship " | T
shown in the graph is proportional. - BERES
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16. The space shutile travels at an orbital speed of about 17,240 miles per hour. How many meters
per minute is this? Round 1o the nearest whole number. (1 miles = 1609.34 metors)

723901 404,34 = BB74S,021bnl . 452417,026 1 o 462,411 meTE"
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